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d maak de sommen.

1150-|1|=|. 1)6[-|4|= 118]-| |5]=
15-§=_ 106]-|5|= 118]-| |6|=
1/5(-|3|= 116]-|6|= 118]-| |7]|=
1/5(-|4|= 116|-|7|= 118]-| [8]=
1|5]-|5|= 106|-|8|= 1/8]-| |9]=
1|5|-6|= 1/6|-|9|= 1/8]-[1|0|=

a maak de sommen.

6l+|2=| | | ul+| |5]= 714 ]3]=
ol ela=| | 4|+ |6|= 7|+|5|=
6+6=. 41+ |8[= 7|+17]=
6|+[8|= 4i+|110|= 71+|9]=
G mqakde;om@en.

2(+|2|+|2|+|2{+|2|= 3[+(3|+]3]|+|3|=
2(+[2]+[2]|+]2]= _ 3+|3|+3|+|3|+]3]+[3|=
4|4+t + |t |=] 3|+[3|+(3]=
Gl+|4(+|4|+|4]|+|4]|= Gl+|4|+|4|+ 4=




